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Chapter 1

Sampling

1.1 Introduction

• Descriptive statistics: “Organisation” of observations/information (almost always the first chapter of a
Statistics book).

• Probability theory (Statistics I): starting from a certain model and calculating the probability of certain
results or events.

• Statistical inference (Statistics II): starting from observations and trying to infer something about the model.

Example 1.1. Suppose a population following a normal distribution with an unknown mean µ. We intend to
“estimate” (approximately) µ based on a sample. Can X be used to estimate µ?

Figure 1.1: Image credit: http://testofhypothesis.blogspot.com/2014/09/the-sample.html

1.2 Random sampling

• Sampling process: the sample collection process must depend on chance.

Definition 1.1 (Random sampling). When the n observed random variables, components of the vector
(X1, . . . , Xn) are i.i.d. (independent and identically distributed), it is said to be a random sample (r.s). Basically,
we are considering that each Xi is, in terms of distribution, a “copy” of the r.v. X.

• Independence means that

FX1,...,Xn(x1, . . . , xn) = FX1(x1)× . . . × FXn(xn).

• Attention to the notation: Xi ̸= xi.

• Random Sampling Process: The observed data are just one of many data sets that could have been obtained
under the same circumstances. The observed sample of n observations, (x1, . . . , xn) is a realization of the
n-dimensional random variable (X1, . . . , Xn). Be careful with the notation:

7



8 CHAPTER 1. SAMPLING

– (X1, . . . , Xn): random sample (variables)

– (x1, . . . , xn): observed sample (constants)

• The sample space, X ⊂ Rn is the set of all selectable samples.

• The probabilistic model (representing the population/universe) is a family of distributions indexed by an
unknown parameter (possibly a vector),

Fθ = {F(x | θ) : θ ∈ Θ}.

Example 1.2. Assume that X ∼ B(1, θ), i.e., whether or not a person practises sports. The probabilistic model is,
in this case,

Fθ = { f (x | θ) : θx(1 − θ)1−x : x = 0, 1; θ ∈ (0, 1)}.

A random sample with size 5 could be x = (1, 1, 0, 1, 0).

1.3 Statistics

Definition 1.2 (Statistic). A Statistic is a random variable or a random vector, T = T(X1, . . . , Xn), that depends
on a random sample (X1, . . . , Xn) but not on any unknown parameter.

Remark. The main advantage of using Statistics is that it allows you to reduce information. Is it preferable to
work with X or with the (entire) sample (X1, . . . , Xn)?

Example 1.3. Let X1, . . . , Xn be a r.s. of a Bernoulli population. The statistic T1 = ∑n
i=1 Xi represents the number

of successes in the sample. The statistic T2 = 1
n ∑n

i=1 Xi = X indicates the proportion of successes in the sample.

Example 1.4. Let (X1, . . . , Xn) represent a r.s. from a normal population N (µ, σ2) with unknown parameters.
Then,

• ∑n
i=1 Xi, ∑n

i=1 X2
i , 1

n ∑n
i=1 Xi and 1

n ∑n
i=1 X2

i are statistics.

• ∑n
i=1(Xi − µ)/σ e ∑n

i=1(Xi/σ)2 are not statistics, as they depend on unknown parameters.

1.4 Sampling distributions

• Given a T statistic, which is a function of a r.s. (X1, . . . , Xn), we can get several T values depending on the
observed samples:

– Observed sample #1:
(x11, . . . , x1n) =⇒ t1 = T(x11, . . . , x1n).

– Observed sample #2:
(x21, . . . , x2n) =⇒ t2 = T(x21, . . . , x2n).

–
. . .

– Observed sample #k:
(xk1, . . . , xkn) =⇒ tk = T(xk1, . . . , xkn).

• The distribution function (density function or probability function) determines the probabilistic behavior of
the statistic T = T(X1, . . . , Xn).

Exercise 1.1. What is the distribution of X if X ∼ N (µ, σ2)?
#
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#

• Distribution of the sample (joint probability function or probability density function):

fX1,...,Xn(x1, . . . , xn) = fX1(x1)× . . . × fXn(xn) =
n

∏
i=1

fXi (xi), (iid’s)

• Distribution of the statistic T = T(X1, . . . , Xn):

P(T ≤ t) =
∫ ∫

. . .
∫

A(t)

(
n

∏
i=1

fXi (xi)

)
dx1dx2 . . . dxn. (continuous r.v.)

P(T ≤ t) = ∑
A(t)

(
n

∏
i=1

fXi (xi)

)
. (discrete r.v.)

A(t) = {(x1, . . . , xn) ∈ Rn : T(x1, . . . , xn) ≤ t}.

• As we’ll see later, there are easier ways to get the sampling distribution of a T statistic!

Example 1.5. Let (X1, . . . , Xn) be a r.s. from a Poisson population, that is, X ∼ Po(λ) and f (x) = P(X = x) =
λxe−λ

x!
, x = 0, 1, 2, . . . , λ > 0. From the Poisson distribution properties,

T =
n

∑
i=1

Xi ∼ Po(nλ).

Thus, the T statistic has a probability function given by

fT(t) = P(T = t) =
(nλ)te−nλ

t!
, t = 0, 1, 2, . . . , λ > 0.

1.4.1 Order statistics

• Let (X1, . . . , Xn) be a r.s. and Xi ∼ FX(x) with density/probability fX(x).

• Order statistics are obtained by ordering the sample:

(X1, . . . , Xn) =⇒ (X(1), X(2) . . . , X(n)), with X(1) ≤ X(2) ≤ . . . ≤ X(n).

• X(1) is the sample minimum and X(n) is the sample maximum.

• Sampling distribution of the minimum, X(1)

G1(x) ≡ P(X(1) ≤ x) = 1 − (1 − FX(x))n .

• Sampling distribution of the maximum, X(n)

Gn(x) ≡ P(X(n) ≤ x) = (FX(x))n .

• If the random variable X is continuous, the sampling density of the minimum/maximum, are
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g1(x) ≡ G′
1(x) =

(
1 − (1 − FX(x))n)′ = n (1 − FX(x))n−1 fX(x).

and

gn(x) ≡ G′
n(x) =

(
(FX(x))n)′ = n (FX(x))n−1 fX(x).

Example 1.6. Let X be an exponentially distributed universe with parameter λ, from which a r.s. of size n was
collected, i.e., (X1, . . . , Xn). Determine the distribution function and density function of the sample minimum
and maximum.

• X ∼ Exp(λ) =⇒ F(x) = 1 − e−λx.

• Gn(x) = P(X(n) ≤ x) = (FX(x))n =
(
1 − e−λx)n .

• gn(x) = G′
n(x) =

[(
1 − e−λx)n

]′
= nλe−λx(1 − e−λx)n−1.

• G1(x) = P(X(1) ≤ x) = 1 − (1 − FX(x))n = 1 −
(
1 −

(
1 − e−λx))n

= 1 − e−nλx.

• g1(x) = G′
1(x) =

[
1 − e−nλx]′ = nλe−nλx.

1.5 First results on the sample mean and variance

Definition 1.3. Let X be a universe, from which a r.s. of size n was collected, (X1, . . . , Xn). The sample mean, X,
and the sample variance, S2, are defined, respectively, by

X =
1
n

n

∑
i=1

Xi, S2 =
1
n

n

∑
i=1

(
Xi − X

)2
=

1
n

n

∑
i=1

X2
i − X2.

Exercise 1.2. Show that

S2 =
1
n

n

∑
i=1

(
Xi − X

)2
=

1
n

n

∑
i=1

X2
i − X2.

#

#

Theorem 1.1. Let (X1, . . . , Xn) be a r.s. from a population X with µ = E(X) < +∞ and σ2 = Var(X) < +∞. The
distribution of the sample mean is:

E(X) = µ, Var(X) =
σ2

n
.



1.6. ASYMPTOTIC SAMPLING DISTRIBUTIONS 11

Remark. On average, the sample mean takes the value of the population mean. When n → ∞, the variance of the
sample mean tends to zero.

Theorem 1.2. Let (X1, . . . , Xn) be a r.s. from a population X with µ = E(X) < +∞ and σ2 = Var(X) < +∞. The
expected value of the sample variance is:

E(S2) =
n − 1

n
σ2.

Remark. On average, S2 < σ2 because n−1
n < 1, which is illogical, especially in small sample sizes. A possible

solution is to work with the corrected sample variance,

S′2 =
1

n − 1

n

∑
i=1

(
Xi − X

)2 ⇐⇒ S′2 =
n

n − 1
· 1

n

n

∑
i=1

(
Xi − X

)2
=

n
n − 1

S2.

Thus,

E(S′2) = E
(

n
n − 1

S2
)
=

n
n − 1

E(S2) =
n

n − 1
× n − 1

n
σ2 = σ2,

that is,

E(S′2) = σ2.

1.6 Asymptotic sampling distributions

Recall the Central Limit Theorem (CLT):

Theorem 1.3. Let X1, X2, . . . be a sequence of i.i.d. random variables with expected value E(Xi) = µ < ∞ and variance
Var(Xi) = σ2 < ∞. Let Zn be the standardized mean

Zn :=
Xn − µ

σ/
√

n
.

Then, for n sufficiently large,
Zn

a∼ N (0, 1).

Or equivalently,

Xn
a∼ N

(
µ,

σ2

n

)
,

In other words, for sufficiently large n, the sample mean Xn is close to be normal distributed with mean µ and variance
σ2/n.

• Exact distributions for the desired statistics are frequently unavailable.

• In general, it is possible to get asymptotic sampling distributions if the population moments exist up to a
certain order.

Theorem 1.4. Let (X1, . . . , Xn) be a r.s. from a population X with µ = E(X) < +∞ and σ2 = Var(X) < +∞. Then,
for n → +∞, by the Central Limit Theorem (CLT)

Zn =
Xn − µ

σ/
√

n
a∼ N (0, 1).

We thus obtain the asymptotic distribution of the sample mean, that is,

Xn
a∼ N

(
µ,

σ2

n

)
.

Remark: If X ∼ N (µ, σ2), the distribution is obviously exact.

Exercise 1.3. Let (X1, . . . , X30) be a r.s. from a uniform population in the interval (0.10). Compute P(X < 5.5).
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#

#

1.7 Bernoulli population sampling: case of one proportion

• The population consists of two types of individuals: those with and those without a particular characteristic.

• Let’s consider a r.s. (X1, . . . , Xn) from a population X ∼ B(1, p), that is,

f (x) = P(X = x) = px(1 − p)1−x, x = 0, 1, p ∈ (0, 1).

• It is of general interest to establish the sampling distribution of two statistics:

Y =
n

∑
i=1

Xi (sum of successes)

and

X =
1
n

n

∑
i=1

Xi (proportion of successes).

• Let’s see first the exact distribution and then the asymptotic distribution (n ≥ 30).

1.7.1 Exact distribution

• Distribution for the sum of successes:

X ∼ B(1, p) =⇒ Xi ∼ B(1, p) =⇒ Y =
n

∑
i=1

Xi ∼ B(n, p) =⇒ E(Y) = np and Var(Y) = np(1 − p).

fY(y) = P(Y = y) =
(

n
y

)
py(1 − p)n−y.

• Distribution for the proportion of successes:

X ∼ B(1, p) =⇒ fX(u) = P(X = u) = P
(

Y
n
= u

)
= P(Y = nu) =

(
n

nu

)
pnu(1 − p)n−nu,

with u = 0, 1/n, 2/n, . . . , 1.
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1.7.2 Asymptotic distribution (n ≥ 30)

• From Statistics I,

Xi ∼ B(1, p) =⇒ Y =
n

∑
i=1

Xi ∼ B(n, p) =⇒ E(Y) = np and Var(Y) = np(1 − p).

By applying CLT, we get the distribution for the sum of successes, i.e.,

Zn =
Y − E(Y)√

Var(Y)
=

Y − np√
np(1 − p)

a∼ N (0.1).

• Applying Theorem 1.1,

E(X) = µX = p, Var(X) =
σ2

X
n

=
p(1 − p)

n
.

By applying the CLT we get the distribution for the proportion of successes, i.e.,

Zn =
X − E(X)√

Var(X)
=

X − p√
p(1 − p)

n

a∼ N (0, 1).

1.8 Bernoulli population sampling: case of two proportions

• We now have two Bernoulli populations with parameters p1 and p2. Usually, the interest is to compare the
two proportions p1 and p2 (e.g. proportion of students approved in classes 1 and 2). In sampling studies, the
difference p1 − p2 is not known. The idea is to collect two independent samples (one from each population)
and use the statistic X1 − X2 (the difference between observed proportions) to infer about p1 − p2.

• Suppose we have collected two r.s. (not necessarily of the same size):

X1 ∼ B(n1, p1) =⇒ (X11, . . . , X1n) =⇒ X1 =
1
n1

n1

∑
i=1

X1i.

X2 ∼ B(n2, p2) =⇒ (X21, . . . , X2n) =⇒ X2 =
1
n2

n2

∑
i=1

X2i.

• Goal: to determine the sampling distribution of X1 − X2.

• There is no exact result, so the asymptotic distribution is used.

• In the case of individual proportions, we have, by application of the CLT:

Z1n =
X1 − p1√
p1(1 − p1)

n1

a∼ N (0, 1) ⇐⇒ X1
a∼ N

(
p1,

p1(1 − p1)

n1

)
.

Z2n =
X2 − p2√
p2(1 − p2)

n2

a∼ N (0, 1) ⇐⇒ X2
a∼ N

(
p2,

p2(1 − p2)

n2

)
.

• So, for the difference in proportions, we have:

Zn =
X1 − X2 − (p1 − p2)√

p1(1 − p1)

n1
+

p2(1 − p2)

n2

a∼ N (0, 1).

⇐⇒

X1 − X2
a∼ N

(
p1 − p2,

p1(1 − p1)

n1
+

p2(1 − p2)

n2

)
.
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Exercise 1.4. The proportion of customers who opted for the TELELE mobile phone brand in the FENAQUE
store was 0.35, and in the VORTENE store it was 0.29. Compute the probability that, taking a sample of 200
customers at the first store and 150 customers in the second, the sample proportion of customers who opted for
the TELELE brand in the FENAQUE store is higher than that of the VORTENE store.
#

#

1.9 Normal population: distribution of the mean

• Let’s consider a r.s. (X1, . . . , Xn) from a population X ∼ N (µ, σ2).

• The distribution of the sample mean (previously seen!) is

X =
1
n

n

∑
i=1

Xi ∼ N
(

µ,
σ2

n

)
,

or

Z =
X − µ

σ/
√

n
∼ N (0, 1) .

Exercise 1.5. Suppose that the duration (in minutes) of local telephone calls in a company is approximated by a
normal distribution with µ = 17 and σ2 = 25. What is the probability that, in a random sample of 25 calls, the
average duration is between 16 and 18 minutes?
#

#
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1.10 Normal population: distribution of the variance

Theorem 1.5. Consider a r.s. (X1, . . . , Xn) from a population X ∼ N (µ, σ2). The distribution of the variance is

nS2

σ2 =
(n − 1)S′2

σ2 ∼ χ2(n − 1).

Exercise 1.6. Consider a normal population from which a sample of dimension 25 has been drawn. Compute the
probability that the quotient between the corrected sample variance and the population variance is between 0.79
and 1.18.
#

#

1.11 Normal population: Student’s ratio

• Let’s consider a r.s. (X1, . . . , Xn) from a population X ∼ N (µ, σ2).

• We have seen before that the exact distribution of the sample mean is

X =
1
n

n

∑
i=1

Xi ∼ N
(

µ,
σ2

n

)
,

or

Z =
X − µ

σ/
√

n
∼ N (0, 1) .

• What happens when σ is unknown? Since we have access to the sample, we can calculate the sample
variance, S2.

• Thus, when σ is unknown, the distribution of the sample mean is

T =
X − µ

S/
√

n − 1
=

X − µ

S′/
√

n
∼ t(n − 1).

• The above ratio is called “Student’s ratio” and follows a t − Student (or simply t) distribution with n − 1
degrees of freedom.

Definition 1.4 (t-Student distribution). Consider U and V two random variables such that U ∼ N (0, 1) and
V ∼ χ2(n). Then,
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T =
U√
V/n

∼ t(n),

that is, the r.v. T follows a t − Student distribution with n degrees of freedom.

t − Student′s distribution properties:

• E(T) = 0 and Var(T) =
n

n − 2
.

• t(n) → N (0, 1) as n → +∞.

• The density shape of the t − student distribution is similar to the density shape of the normal distribution.

• The distribution of t-students is tabulated (see Table 8 – Newbold). Attention: in this table, the probabilities
are calculated in the right-side tab!

1.12 Normal populations: difference between two means

Assume two normal populations X1 ∼ N (µ1, σ2
1 ) and X2 ∼ N (µ2, σ2

2 ) from which two random samples (not
necessarily of equal size) were collected:

X1 ∼ N (µ1, σ2
1 ) =⇒ (X11, . . . , X1n) =⇒ X1 =

1
n1

n1

∑
i=1

X1i.

X2 ∼ N (µ2, σ2
2 ) =⇒ (X21, . . . , X2n) =⇒ X2 =

1
n2

n2

∑
i=1

X2i.

X1 − X2 ∼ N
(

µ1 − µ2,
σ2

1
n1

+
σ2

2
n2

)
.

Z =
(X1 − X2)− (µ1 − µ2)√

σ2
1

n1
+

σ2
2

n2

∼ N (0, 1).

• The previous result only applies when the variances of the two populations are known (a problem similar
to the one that led to the introduction of the Student’s ratio).

• When the variances are unknown but we assume they are equal, we have

T =
(X1 − X2)− (µ1 − µ2)√

1
n1

+
1
n2

√
(n1 − 1)S′2

1 + (n2 − 1)S′2
2

n1 + n2 − 2

∼ t(n1 + n2 − 2).

• For large samples, when the variances are unknown and possibly different, we have

T =
(X1 − X2)− (µ1 − µ2)√

S′2
1

n1
+

S′2
2

n2

a∼ N (0, 1).

• If the sample sizes are rather small, the approximation obtained using the CLT can be slightly improved by
using the so-called Welch approximation:

T =
(X1 − X2)− (µ1 − µ2)√

S′2
1

n1
+

S′2
2

n2

a∼ t(r),

where r is the largest integer contained in
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(
s′21
n1

+
s′22
n2

)2

1
n1 − 1

(
s′21
n1

)2

+
1

n2 − 1

(
s′21
n2

)2 .

Exercise 1.7. A certain pharmaceutical company has launched a new sleeping drug on the market that has been
used in hospitals. It was found that patients who were not taking this drug slept for an average of 7.5 hours, with
a standard deviation of 1.4 hours, while patients who received this drug slept for an average of 8 hours, with a
standard deviation of 2 hours. At a certain hospital, 31 patients who were not taking the referred medication and
61 patients who were taking it were counted. What is the probability that patients in the first group slept more
on average than those in the second group? Assume the normality of the distributions.
#

#

1.13 Normal populations: ratio of variances

• Take two random samples from two gaussian populations, X1 ∼ N (µ1, σ2
1 ) and X2 ∼ N (µ2, σ2

2 ).

• It is natural to think of the statistic S′2
1 /S′2

2 when inferring the ratio of variances σ2
1 /σ2

2 of two independent
Gaussian populations.

• By Theorem 1.6 we know that

(n − 1)
S′2

σ2 ∼ χ2(n − 1).

• When considering two populations,

U = (n1 − 1)
S′2

1
σ2

1
∼ χ2(n1 − 1) and V = (n2 − 1)

S′2
2

σ2
2
∼ χ2(n2 − 1), one get
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F =
U
V

· n2 − 1
n1 − 1

=

(n1 − 1)
S′2

1
σ2

1

(n2 − 1)
S′2

1
σ2

1

· n2 − 1
n1 − 1

=
S′2

1
S′2

2
·

σ2
2

σ1
1
∼ F(n1 − 1, n2 − 1).

F(n1 − 1, n2 − 1) represents the F − Snedecor distribution with n1 − 1 and n2 − 1 degrees of freedom.

Definition 1.5 (F-Snedecor distribution). Consider two independent random variables U and V, such that
U ∼ χ2(m) and V ∼ χ2(n). Then,

F =
U/m
V/n

∼ F(m, n),

that is, the r.v. F follows a F − Snedecor distribution with m and n degrees of freedom.

Figure 1.2: F distribution examples

F − Snedecor distribution properties:

• E(F) =
n

n − 2
, n > 2 and Var(F) =

2n2(m + n − 2)
m(n − 2)2(n − 4)

, n > 4.

• The distribution of F-Snedecor is tabulated (see Tables 9a and 9b – Newbold). Attention: in this table, the
probabilities are calculated in the right-side tab!

• To obtain values in the left tab, use the property:

F ∼ F(m, n) =⇒ 1
F
∼ F(n, m).

Exercise 1.8. Assume that the IQ test results in countries A and B are well modelled by normal distributions of
means of 100, and that a sample of size 16 is collected in country A and another of size 10 in country B. Assuming
that the variances in the two populations are the same, what is the probability that the quotient between the
corrected variances of the two samples is greater than 3.77?
#
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#
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Chapter 2

Point estimation

2.1 Introduction

• Goal: To say what we have learned about the unknown quantities (parameters) after observing some data
(a random sample) that we believe contains relevant information.

• Examples:

– What would we say if the probability that a future patient will respond successfully to treatment after
we observe the results from a collection of other patients?

– What can we say about whether a machine is functioning properly after we observe some of its output?

• Background: The methods of statistical inference, which we shall develop to address these questions, are
built upon the theory of probability.

• Let’s consider a r.s. (X1, . . . , Xn) from a population with p.d.f./p.m.f. belonging to the familiy

Fθ = { f (x|θ) : θ ∈ Θ}.

• The functional form f (·) is known but the parameters θ are unknown.

• Problem: How to use the information contained in the sample to “guess” (estimate) the value of the
unknown parameter(s) θ?

• Important Idea: given the size of the sample n, the more accurate the response (estimation), the less
confidence there is.

• Parametric Estimation:

– prioritizing accuracy =⇒ point estimation =⇒ estimates

– prioritizing confidence =⇒ interval estimation =⇒ confidence interval

• Parameters:

– Multidimensional parameter - Assume that the return on a financial asset follows a normal distribution
with a mean of µ and a variance of σ2. Then, we would like to estimate two unknown parameters: µ
(mean return) and σ (volatility).

– Parameter function - Assume that the number of claims per year on a given motor insurance policy
follows a Poisson distribution with parameter λ. Instead of λ (the average number of claims per year),
we might be interested in P(X = 0 | λ) = e−λ, which is the probability that there are no claims. As a
result, we’d like to calculate the function h(λ) = e−λ that represents such a probability.

• Starting point:

– random sample (X1, X2, . . . , Xn) from a population Fθ = { f (x|θ) : θ ∈ Θ}.

– f (·) is known and only θ is unknown.

– the parametric space is Θ and θ ∈ Θ.

21
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Definition 2.1 (Estimator). An estimator is a Statistic, T(X1, X2, . . . , Xn), that estimates some fact about the
population. You can also think of an estimator as the rule that creates an estimate.

Example 2.1. T(X1, X2, . . . , Xn) =
1
n

n
∑

i=1
Xi = X.

Definition 2.2 (Estimate). Observed value of the estimator for a given observed sample.

Example 2.2. t = T(x1, x2, . . . , xn) =
1
n

n
∑

i=1
xi = x.

Remark. How do we find an estimator for a given unknown parameter? Given two estimators, how do we assess
their quality?

2.2 Method of Moments

• Idea: if we know that the parameter θ that we want to estimate is the mean of the population distribution
(the first raw moment), then we can use the sample average (the first raw sample-moment) to estimate it:
the larger the sample, the more similar the two will be. We will consider a random sample (X1, X2, . . . , Xn)
from a population with p.d.f./p.m.f. f (x | θ1, θ2, . . . , θk) with k unknown parameters.

Definition 2.3 (Method of Moments). The Method of Moments estimator(s) can be obtained as follows. Let

µ′
k = E(Xk) = f (θ1, . . . , θL) denote the kth raw population moment and let µk =

1
n

n
∑

i=1
Xk

i denote the kth raw

sample moment.

• Step 1: Determine L the number of parameters (θ1, . . . , θL) to estimate.

• Step 2: Find µ′
k and equate to m′

k for k = 1, . . . , L.

• Step 3: Solve this system of L equations for θ1, . . . , θL.

The solutions are the Method of Moments Estimators (θ̃1, . . . , θ̃L).

Exercise 2.1. Consider X ∼ B(1, θ) of which a sample of size n was drawn with the purpose of estimating θ.
Obtain θ̃.
#

#

Exercise 2.2. Consider X ∼ N (µ, σ2) of which a sample of size n was drawn with the purpose of estimating µ

and σ2. Obtain µ̃ and σ̃2.
#
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#

Exercise 2.3. Consider X ∼ U(−θ, θ) of which a sample of size n was drawn with the purpose of estimating θ.
Obtain θ̃.
#

#

Exercise 2.4. Consider X ∼ Exp(λ) of which a sample of size n was drawn with the purpose of estimating λ.
Obtain λ̃.
#

#

2.3 Maximum Likelihood

Definition 2.4 (Likelihood function). Consider the joint probability function of the observations in a random
sample, regarded as a function of the unknown parameter θ:
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• (X1, X2, . . . , Xn) r.s. of a population with p.d.f./p.m.f. f (x | θ).

• joint p.d.f./p.m.f. of the random sample

f (x1, . . . , xn | θ) =
n

∏
i=1

f (xi | θ), (x1, . . . , xn) ∈ Rn,

representing the probability associated to the specific sample that was observed (x1, x2, . . . , xn).

• for a given fixed observed random sample (x1, x2, . . . , xn), this probability interpreted as function of the
parameter θ defines the likelihood function:

L(θ) := L(θ | x1, x2, . . . , xn) =
n

∏
i=1

f (xi | θ), θ ∈ Θ.

• for each value of θ in the parameter space, L(θ) gives the likelihood of observing the specific sample
(x1, x2, . . . , xn).

Exercise 2.5. Consider X ∼ B(1, θ) of which a sample of size n was drawn with the purpose of estimating θ.
Obtain the likelihood function and take a look at the following figures:
#

#

• n = 10 and ∑10
i=1 xi = 2 =⇒ L(θ) = θ2(1 − θ)10−2 = θ2(1 − θ)8. The more likely values for θ are around

0.2.
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• n = 10 and ∑10
i=1 xi = 7 =⇒ L(θ) = θ7(1 − θ)10−7 = θ7(1 − θ)3. The more likely values for θ are around

0.7.
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Definition 2.5 (Maximum Likelihood Estimator). Given the observed sample (x1, . . . , xn) search for an estimate
θ̂ = θ̂(x1, . . . , xn) such that

L(θ̂ | x1, x2, . . . , xn) ≥ L(θ | x1, x2, . . . , xn), θ ∈ Θ.

This estimate corresponds to the estimator θ̂ = θ̂(X1, X2, . . . , Xn).

• Maximum: root of the first derivative (if it exists) and negative second derivative (if it exists).

• Usually, it is easier to consider the logarithm of the likelihood function (log-likelihood function):

l(θ) = ln(L(θ)).

• Since the logarithm is a monotonic increasing function, l(θ) and L(θ) have the same maximizer.

• In general, the maximizer is given by:

dL(θ)
dθ

= 0,
d2L(θ)

dθ2 < 0 or
dl(θ)

dθ
= 0,

d2l(θ)
dθ2 < 0.

Remark. Be careful!

• The maximising point may not be an interior point of the parametric space.

• The MLE does not need to be unique.

• L(θ) may have local maxima.

• The likelihood (or log-likelihood) function may not be differentiable.

Exercise 2.6. Consider X ∼ B(1, θ) of which a sample of size n was drawn with the purpose of estimating θ.
Obtain θ̂.
#

#
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Exercise 2.7. (X1, . . . Xn) r.s. from X with p.d.f. f (x | θ) = θxθ−1, 0 < x < 1, θ > 0, and E(X) =
θ

1 + θ
.

Find θ̃ and θ̂.
#

#

Exercise 2.8. X ∼ U(0, θ). Find θ̂.
#
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#

2.3.0.1 Invariance property of MLE

Theorem 2.1. Let θ̂ be the MLE for θ and h(x) a function of x. Then h(θ̂) is the MLE for h(θ).

Exercise 2.9. X ∼ Po(λ). Find the MLE for P(X < 0.1).
#

#

2.4 Properties of estimators

2.4.1 Unbiased estimators

Definition 2.6 (Unbiased estimator). An estimator T = T(X1, X2, . . . , Xn) for θ is centered or unbiased if

E(T) = θ, ∀θ ∈ Θ.

Remark. The expected value is equal to the true value of the parameter θ, whatever the value of θ in the parametric
space. The definition only makes sense if E(T) exists.

Definition 2.7 (Bias). If E(T) ̸= θ, then the estimator is biased and the bias is given by:

bias(T) = E(T)− θ.

Exercise 2.10. X ∼ B(1, θ). Is θ̂ = X unbiased for θ?
#

#
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Figure 2.1: Two unbiased estimators.

• The concept of unbiasedness does not allow one to distinguish between two unbiased estimators with
different sampling distributions (namely regarding variance):

Definition 2.8 (Efficiency). Let T1 and T2 be two unbiased estimators for θ. The estimator T1 is more efficient
than T2 when

Var(T1) < Var(T2), ∀θ ∈ Θ.

The estimator T∗ is the most efficient for θ when it is more efficient than any other unbiased estimator T for θ.

Remark. Regarding efficiency:

• Efficiency requires the existence of second-order moments in the estimator.

• The efficiency definition incorporates two different concepts:

– relative efficiency: relation between two unbiased estimators for θ.

– absolute efficiency: regarding all unbiased estimators for θ.

• In order to obtain the most efficient estimator, we rely on the Fréchet-Cramér-Rao lower bound.

Theorem 2.2 (Fréchet-Cramér-Rao lower bound). Let (X1, X2, . . . , Xn) be a random sample from a population with
p.d.f./p.m.f. f (x | θ), satisfying certain regularity conditions, and let T = T(X1, X2, . . . , Xn) be an unbiased estimator for
θ. Then,

Var(T) ≥ 1
nI(θ) ,

where

I(θ) = E

[(
d ln( f (X|θ))

dθ

)2
]
= −E

[
d2 ln( f (X|θ))

dθ2

]
is the Fisher information.

Remark. Generally, the second equality is easier to calculate. For certain distributions, the expression I(θ) is
known:

Exercise 2.11. Given f (x | θ) = θxθ−1, 0 < x < 1, θ > 0, show that I(θ) = θ−2.
#
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Figure 2.2: Fisher information.

#

Remark. With knowledge of the Fréchet-Cramér-Rao lower bound, we compare the estimator’s variance to it:

• If they are equal, there is no other unbiased estimator with a lower variance, so the estimator is the most
efficient.

• If they are different: the ratio

[nI(θ)]−1

Var(T)

provides an indication of the relative efficiency of our estimator relative to the hypothetical estimator with
variance equal to the lower bound.

• The efficiency concept is linked to unbiasedness.

• What if we want to compare estimators that are biased?

Definition 2.9 (Mean Squared Error). Let T = T(X1, X2, . . . , Xn) be an estimator for θ. Then, the mean squared
error (MSE) is

MSE(T) = E
[
(T − θ)2

]
= Var(T) + (E(T)− θ︸ ︷︷ ︸

bias(T)

)2.

Remark. Regarding MSE:

• The MSE balances variance and bias.

• For unbiased estimators, MSE means variance.

• The estimator T1 is “better” than T2 if

MSE(T1) < MSE(T2), ∀θ ∈ Θ.

• The estimator T1 is the “best” estimator if its MSE is lower or equal to the MSE of any other estimator for θ.
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• In general, the MSE depends on θ.

2.4.2 Consitency

Definition 2.10 (Consistent estimator). The estimator Tn = T(X1, X2, . . . , Xn) is said to be mean square consistent
if

lim
n→+∞

E[(T − θ)2] = 0, ∀θ ∈ Θ.

Remark. Necessary and Sufficient condition for the estimator Tn to be mean square consistent:

lim
n→+∞

E(Tn) = θ and lim
n→+∞

Var(Tn) = 0.

Definition 2.11 (Weak consistent estimator). The estimator Tn = T(X1, X2, . . . , Xn) is said to be weak consistent
if

∀ϵ > 0, lim
n→+∞

P(θ − ϵ < Tn < θ + ϵ) = 1, ∀θ ∈ Θ.

Remark. Mean squared consistency =⇒ weak consistency.

Remark. Properties of moment estimators:

• Are not unique, since they can be obtained from moments of different orders.

• Can lead to estimators that are not admissible.

• Do not enjoy the invariance property.

• Under general conditions:

– are consistent;

– for large samples, their distribution is approximately normal.

Remark. Properties of maximum likelihood estimators:

• Under general conditions are consistent.

• In general, they are not necessarily unbiased.

• If there is an estimator that attains the Fréchet-Cramér-Rao lower bound, then it is a maximum likelihood
estimator.

• Under general conditions are asymptotically Normal. In case there is only one parameter θ, we have:

√
nI(θ)(θ̂ − θ)

a∼ N (0, 1).

Exercise 2.12. Let

T =
(n − 1)X1 + Xn

n
be an estimator of µ, where (X1, . . . , Xn) represents a random sample of size n from a normal population with
mean µ and variance σ2. Check if T is unbiased to µ and if it is a consistent mean-square estimator for µ?
#
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#
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Chapter 3

Interval estimation

3.1 Confidence intervals

• It is usually of interest to obtain a measure of the distance between the point estimator and the unknown
parameter.

• Instead of considering an isolated estimate θ̂ for θ, we propose an interval (t1, t2) to which a certain “level
of confidence” is associated.

• In several cases, the interval is of the form

(
θ̂ − δ, θ̂ + δ

)
,

where δ can be seen as a precision measure or error measure of the point estimate θ̂.

Definition 3.1 (Random interval). Let T1 = T1(X1, X2, . . . , Xn) and T2 = T2(X1, X2, . . . , Xn), T1 < T2, be two
statistics such that

P(T1 < θ < T2) = 1 − α, 0 < α < 1, ∀θ ∈ Θ.

Then, (T1, T2) is a random interval for θ with probability 1 − α.

Definition 3.2 (Confidence interval). Let (x1, x2, . . . , xn) be a particular observed sample of (X1, X2, . . . , Xn) and
t1 = T1(x1, x2, . . . , xn), t2 = T2(x1, x2, . . . , xn) be the observed values of T1 and T2 for that realized sample.

Then (t1, t2) is a confidence interval at the (1 − α)100% level of confidence for θ.

3.2 Pivotal quantities

Definition 3.3 (Pivotal Quantity). A pivotal quantity, Z(X1, X2, . . . , Xn, θ):

• is a function of the random sample;

• is a function of the parameter θ;

• has known p.d.f./p.m.f. g(z), independent from θ;

• is independent from any other unknown parameter.

Definition 3.4 (Obtaining a confidence interval).

1. Find the appropriate pivotal quantity Z.

2. Given the confidence level (1 − α)100%, find two values in the domain of Z, z1(α) and z2(α), such that

P (z1(α) < Z < z2(α)) = 1 − α.

3. From z1(α) < Z < z2(α) obtain T1(X1, X2, . . . , Xn) < θ < T2(X1, X2, . . . , Xn), that is,

33
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P (z1(α) < Z < z2(α)) = P (T1(X1, X2, . . . , Xn) < θ < T2(X1, X2, . . . , Xn)) = 1 − α.

4. Random interval with probability 1 − α: (T1(X1, X2, . . . , Xn), T2(X1, X2, . . . , Xn)) = (T1, T2).

5. Finally, a confidence interval at the (1− α)100% level for θ is given by the realization of the random interval
to an observed sample:

CI(1−α)100%(θ) = (T1(x1, x2, . . . , xn), T2(x1, x2, . . . , xn)) = (t1, t2).

Remark. In general, we only apply points 1 and 5. It is also important to notice that:

• The definitions were presented for θ, but the generalization for h(θ) is straightforward.

• A confidence interval is simply the particular realization of the random interval, in the very same way as
going from the estimator to the estimate in the context of point estimation.

• Thus, we only assign probability to the random interval, not to the confidence interval.

• The concept of confidence interval can be generalized to more dimensions (θ1, θ2, . . . , θk), k > 1, in which
case we obtain confidence regions.

Exercise 3.1. With the pivotal quantity Z =
X − µ

σ/
√

n
∼ N(0, 1), show that a confidence interval at 95% level for

the mean of a population with known σ is

CI95%(µ) =

(
x ∓ z0.025 ·

σ√
n

)
=

(
x − z0.025 ·

σ√
n

, x + z0.025 ·
σ√
n

)
.

#

#

3.3 Confidence intervals for normal populations

Definition 3.5. Confidence interval for the mean with known variance:

• Pivotal quantity:

Z =
X − µ

σ/
√

n
∼ N (0, 1).

• Confidence interval:

CI(1−α)100%(µ) =

(
x ∓ zα/2

σ√
n

)
, Φ(zα/2) = 1 − α/2.

Definition 3.6. Confidence interval for the mean with unknown variance:
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• Pivotal quantity:

T =
X − µ

S′/
√

n
∼ t(n − 1).

• Confidence interval:

CI(1−α)100%(µ) =

(
x ∓ tα/2

s′√
n

)
, P(T > tα/2) = α/2.

Definition 3.7. Confidence interval for the variance:

• Pivotal quantity:

Q =
(n − 1)S′2

σ2 ∼ χ2(n − 1).

• Confidence interval:

CI(1−α)100%(σ2) =

(
(n − 1)s′2

q2
,
(n − 1)s′2

q1

)
, P(Q < q1) = P(Q > q2) = α/2.

We now consider two normal populations X1 ∼ N (µ1, σ2
1 ) and X2 ∼ N (µ2, σ2

2 ), and two independent random
samples (X11, X12, . . . , X1m) and (X21, X22, . . . , X2n).

Definition 3.8. Confidence interval for the difference of means with known variances:

• Pivotal quantity:

Z =
(X1 − X2)− (µ1 − µ2)√

σ2
1

m
+

σ2
2

n

∼ N (0, 1).

• Confidence interval:

CI(1−α)100%(µ1 − µ2) =

x1 − x2 ∓ zα/2

√
σ2

1
m

+
σ2

2
n

 .

Definition 3.9. Confidence interval for the difference of means with unknown (but equal) variances:

• Pivotal quantity:

T =
(X1 − X2)− (µ1 − µ2)√
1
m

+
1
n

√
(m−1)S′2

1 +(n−1)S′2
2

m+n−2

∼ t(m + n − 2).

• Confidence interval:

CI(1−α)100%(µ1 − µ2) =

x1 − x2 ∓ tα/2

√
1
m

+
1
n

√
(m − 1)s′21 + (n − 1)s′22

m + n − 2

 .

Definition 3.10. Confidence interval for the difference of means with unknown (possibly different) variances:

• Pivotal quantity:

T =
(X1 − X2)− (µ1 − µ2)√

S′2
1

m
+

S′2
2
n

a∼ t(r),

where r is the largest integer contained in
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(
s′21
m

+
s′22
n

)2

1
m − 1

(
s′21
m

)2

+
1

n − 1

(
s′21
n

)2 .

• Confidence interval:

CI(1−α)100%(µ1 − µ2) =

x1 − x2 ∓ tα/2

√
s′21
m

+
s′22
n

 .

Definition 3.11. Confidence interval for the ratio of variances σ2
2 /σ2

1 :

• Pivotal quantity:

F =
S′2

1
S′2

2
·

σ2
2

σ2
1
∼ F(m − 1, n − 1).

• Confidence interval:

CI(1−α)100%(σ2
2 /σ2

1 ) =

(
f1

s′22
s′21

, f2
s′22
s′21

)
, P(F < f1) = P(F > f2) = α/2.

Remark. Using the tables, f2 is “directly” obtained, while f1 is obtained as follows:

• go to table F(n − 1, m − 1) and find the value f with associated right-tail probability α/2;

• do f1 = 1
f .

Exercise 3.2. Consider a population with a normal distribution of unknown parameters. From this population, a
random sample of dimension 25 was taken. Suppose that the sample provided the following results:

25

∑
i=1

xi = 75 and
25

∑
i=1

x2
i = 321.

(a) Construct a 95% confidence interval for the mean.
#
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#

(b) Construct a 95% confidence interval for the standard deviation.
#

#

Exercise 3.3. Based on a casual sample of 16 observations taken from a normal population, the following
confidence interval for the expected value was constructed according to the usual process: (7.398, 12.602).

(a) Knowing that, with the sample information, s = 3.872 was obtained, what is the degree of confidence that
you can assign to the above confidence interval?

#

#

(b) Based on the same sample, construct a confidence interval of 95% for the population variance.
#
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#

3.4 Confidence intervals for large samples

When n is large (n > 30), use the CLT to obtain asymptotic intervals, which are approximate and valid. Consider
that all of the aforementioned pivot quantities follow a standard normal distribution asymptotically.

Exercise 3.4. Suppose that the annual expenditure on consumer goods of the inhabitants of cities A and B is
associated with random variables with a normal distribution of unknown parameters. 100 people from the city
A were surveyed, resulting in an average annual expenditure of 5100 monetary units (m.u.) and a corrected
standard deviation of 1020 m.u. 125 people from the city B were also surveyed, resulting in an average of 6150
m.u. with a corrected standard deviation of 1300 m.u. Using a confidence interval of 95%, check whether it is
possible to state that the average annual expenditure on consumer goods is higher in either of the two cities.
#

#



Chapter 4

Parametric hypothesis testing

4.1 Introduction

Idea

• To establish a conjecture on the unknown aspects of the (population) distribution.

• Check if the existing information in the observed sample (x1, . . . , xn) supports or does not support this
conjecture.

Definition 4.1 (Statistical hypothesis). Any conjecture about unknown aspects of the distribution of X.

Example 4.1. X ∼ exp(λ = 2)?, X ∼ N (µ, σ2)?

Definition 4.2 (Non parametric hypothesis). The hypothesis is about the distribution of the population X.

Example 4.2. X ∼ F(·)?, X ∼ N (·, ·)?

Definition 4.3 (Parametric hypothesis). The hypothesis is about parameters of the distribution of X. In this case,
the functional form of the distribution function of X is known.

Example 4.3. X ∼ N(µ = 1, σ2)?, X ∼ exp(λ = 2)?

Remark. In this curricular unit, we only study parametric hypothesis tests.

Exercise 4.1. For each of the following propositions, indicate whether or not it is a statistical hypothesis:

(a) µ = 3.

(b) x = 4.

(c) P(X < 2.5) = 0.4.

(d) 2 < σ < 3.

(e) X < 3;
#

#

39
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4.2 Hypothesis testing

Definition 4.4 (Null and alternative hypothesis). Assume X ∼ f (x | θ), θ ∈ Θ, θ unknown.

• Null hypothesis (typically, it corresponds to what we suspect to be true):

H0 : θ ∈ Θ0.

• Alternative hypothesis:
H1 : θ ∈ Θ1.

Every parametric hypothesis divides the parametric space Θ into Θ0 and Θ1, i.e.,

Θ = Θ0 ∪ Θ1 and Θ0 ∩ Θ1 = ∅.

Definition 4.5 (Simple statistical hypothesis). When the parametric subspace contains only one element.

Definition 4.6 (Composite statistical hypothesis). When the parametric subspace contains more than one element.

Example 4.4. We wish to assess whether a given coin is fair: X ∼ B(1, θ) and θ = P(“success”)

X =

{
1, heads
0, tails

• Parametric space: θ ∈ Θ = [0, 1].

• Null hypothesis: H0 : θ = 0.5 (simple hypothesis).

• Alternative hypothesis: H1 : θ ̸= 0.5 (composite hypothesis).

Definition 4.7 (Statistical hypothesis test). It is a rule allowing to specify a subset of the parametric space (sample
results space) W ⊂ Rn such that:

• if (x1, . . . , xn) ∈ W =⇒ we reject H0;

• if (x1, . . . , xn) /∈ W =⇒ we do not reject H0.

The final decision always refers to H0 (reject H0 or do not reject H0).

The statistical hypothesis test defines a partition of the sample space into two regions, W and W

W ∪ W = Rn and W ∩ W = ∅,

where W denotes the rejection region (RR) or critical region (CR).

Definition 4.8 (Test statistic). Alternatively, and in almost all cases of practical interest, we work with a test
statistic (TS):

T = T(X1, . . . , Xn) =⇒ tobs = T(x1, . . . , xn).

In this case, the RR, W, is defined by means of the TS:

• if tobs ∈ WT =⇒ we reject H0;

• if tobs /∈ WT =⇒ we do not reject H0.

In summary, the components of a statistical hypothesis test are:

• Null hypothesis, H0: kept unless evidence shows otherwise;

• Alternative hypothesis, H1: adopted if H0 is rejected;

• Test statistic, T = T(X1, . . . , Xn): based on which the decision rule will be made;

• Rejection region (RR), WT : the decision rule.
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Types of error

• The hypothesis test is carried out based on a random sample (we do not have access to the whole popula-
tion).

• Thus, the decision of rejecting, or not, the null hypothesis may be wrong!

• We must consider two types of error:

– Type 1 error: rejecting H0 when H0 is true.

– Type 2 error: not rejecting H0 when H0 is false.

• We will split our study into 3 cases: simple hypothesis vs simple hypothesis, simple hypothesis vs composite
hypothesis and bilateral tests.

4.3 Simple hypothesis vs simple hypothesis

H0 : θ = θ0 versus H1 : θ = θ1

• Test dimension: α = P(reject H0 | H0 true) = P(reject H0 | θ = θ0).

• Test power: β = P(reject H0 | H0 false) = P(reject H0 | θ = θ1).

• Ideal: lowest value of α and highest value of β.

• The reduction of the two error probabilities (or of one of them fixing the other) can only be achieved by
increasing the sample size (see eg. ahead).

• By changing the RR, other values for α and β are obtained (see eg. ahead).

• Since it is impossible to minimize both types of error simultaneously, we resort to the Neyman-Pearson
lemma in order to obtain the most powerful test (omitted topic).

Example 4.5.
X ∼ N (µ, σ2 = 4), H0 : µ = 10 vs H1 : µ = 14 :

Exercise 4.2. The duration, in hours, X, of a certain type of component has a normal distribution with a standard
deviation equal to 50. To test:

H0 : µ = 250 vs H1 : µ = 200,

the rule is: reject H0 if x < 230 .

(a) If the decision is made based on a random sample of 16 components, calculate the dimension and power
associated with this test.
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#

#

(b) What is the minimum sample size so that the probability of committing the first type of error is less than
0.025?

#

#

4.4 Simple hypothesis vs composite hypothesis

H0 : θ = θ0 versus H1 : θ > θ1 or H1 : θ < θ1

• Type I error probability does not change (the significance level depends only on H0).

• Type II error probability β is now a function (of all possible values of the parameter in the alternative).

Definition 4.9 (Power function). Test H0 : θ = θ0 vs H1 : θ > θ0, with RR W.

β(θ) = P(rej. H0 | H0 false) = P(rej.H0 | θ > θ0) = P((X1, . . . , Xn) ∈ W | θ),
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for θ ∈ Θ1 = {θ : θ > θ0}.

Note: the case H1 : θ < θ0 is similar with the necessary adaptations.

Figure 4.1: Example of a power function.

Remark. Important remarks:

• When H0 : θ ⩽ θ0 vs H1 : θ > θ0 (composite hyp. against unilateral composite alternative) we should
proceed as if we had H0 : θ = θ0 vs H1 : θ > θ0.

• Similarly, for H0 : θ ⩾ θ0 vs H1 : θ < θ0, we should proceed as if we had H0 : θ = θ0 vs H1 : θ < θ0.

• In both cases, we are choosing the worst-case scenario.

Exercise 4.3. Let X be a random variable that represents the amount of wine in a 75-centiliter bottle. Assume that
X has a normal distribution with a standard deviation of 2. To test:

H0 : µ = 75 vs H1 : µ < 75,

a random sample of 10 bottles was selected, rejecting the null hypothesis if x < 74.1, where x is the average
amount of wine per bottle in the observed sample.

(a) Compute the dimension of this test.
#

#

(b) Determine the power function and calculate its value when µ = 74 and µ = 72.5.
#
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#

4.5 Bilateral tests

H0 : θ = θ0 versus H1 : θ ̸= θ0

• Define the RR on both tails of the test statistic distribution, assigning equal probability α/2 to each side.

4.6 The p-value

• If α is fixed, the test result is whether H0 is rejected or not.

• In that case, we do not take into account whether the observed value of the test statistic is close or not to
the critical value at that significance level.

• The p-value is an alternative way of reporting the test result that overcomes this “limitation”.

Definition 4.10. Let T(x1, . . . , xn) = tobs be the observed value of the test statistic. The p−value:

• is a tool to check if the test statistic is in the rejection region. It is also a measure of the evidence for rejecting
H0.

• the smaller its value, the smaller the consistency of the data with the hypothesis (“the more it is rejected”
H0);

• Rejection rule: p − value < α =⇒ reject H0.

4.7 Normal populations: testing mean and variance

Definition 4.11. Testing the mean with known variance

• Bilateral test

H0 : µ = µ0 vs H1 : µ ̸= µ0

TS : Z =
X − µ0

σ/
√

n
∼ N (0, 1)

p − value = 2P(Z ≥ |zobs| | H0)

RR = {z : |z| > zα/2} or RR =

{
x : x > µ0 + zα/2

σ√
n

}
∪
{

x : x < µ0 − zα/2
σ√
n

}
• Right tailed test

H0 : µ = µ0 vs H1 : µ > µ0
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TS : Z =
X − µ0

σ/
√

n
∼ N (0, 1)

p − value = P(Z ≥ zobs | H0)

RR = {z : z > zα} or RR =

{
x : x > µ0 + zα

σ√
n

}
• Left tailed test

H0 : µ = µ0 vs H1 : µ < µ0

TS : Z =
X − µ0

σ/
√

n
∼ N (0, 1)

p − value = P(Z ≤ zobs | H0)

RR = {z : z < −zα} or RR =

{
x : x < µ0 − zα

σ√
n

}
Definition 4.12. Testing the mean with unknown variance

• Bilateral test

H0 : µ = µ0 vs H1 : µ ̸= µ0

TS : T =
X − µ0

S′/
√

n
∼ t(n − 1)

p − value = 2P(T ≥ |tobs| | H0)

RR = {t : |t| > tα/2} or RR =

{
x : x > µ0 + tα/2

s′√
n

}
∪
{

x : x < µ0 − tα/2
s′√

n

}
• Right tailed test

H0 : µ = µ0 vs H1 : µ > µ0

TS : T =
X − µ0

S′/
√

n
∼ t(n − 1)

p − value = P(T ≥ tobs | H0)

RR = {t : t > tα} or RR =

{
x : x > µ0 + tα

s′√
n

}
• Left tailed test

H0 : µ = µ0 vs H1 : µ < µ0

TS : T =
X − µ0

S′/
√

n
∼ t(n − 1)

p − value = P(T ≤ tobs | H0)
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RR = {t : t < −tα} or RR =

{
x : x < µ0 − tα

s′√
n

}

Definition 4.13. Testing the variance

• Bilateral test

H0 : σ2 = σ2
0 vs H1 : σ2 ̸= σ2

0

TS : Q =
(n − 1)S′2

σ2
0

∼ χ2(n − 1)

p − value = 2 min{p1, p2} (see next definition)

RR = {q : q < q1−α/2} ∪ {q : q > qα/2} or RR =

{
s′2 : s′2 <

q1−α/2σ2
0

n − 1

}
∪
{

s′2 : s′2 >
qα/2σ2

0
n − 1

}
• Right tailed test

H0 : σ2 = σ2
0 vs H1 : σ2 > σ2

0

TS : Q =
(n − 1)S′2

σ2
0

∼ χ2(n − 1)

p − value = p1 = P(Q ≥ qobs | H0)

RR = {q : q > qα} ∪ or RR =

{
s′2 : s′2 >

qασ2
0

n − 1

}
• Left tailed test

H0 : σ2 = σ2
0 vs H1 : σ2 < σ2

0

TS : Q =
(n − 1)S′2

σ2
0

∼ χ2(n − 1)

p − value = p2 = P(Q ≤ qobs | H0)

RR = {q : q < q1−α} ∪ or RR =

{
s′2 : s′2 <

q1−ασ2
0

n − 1

}

We now consider two normal populations X ∼ N (µX, σ2
X) and Y ∼ N (µY, σ2

Y), and two independent random
samples (X1, X2, . . . , Xm) and (Y1, Y2, . . . , Yn).

Definition 4.14. Testing the equality of means with known variances

• Bilateral test
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H0 : µX = µY ⇐⇒ µX − µY = 0 vs H1 : µX ̸= µY ⇐⇒ µX − µY ̸= 0

TS : Z =
X − Y√
σ2

X
m

+
σ2

Y
n

∼ N (0, 1)

p − value = 2P(Z ≥ |zobs| | H0)

RR = {z : |z| > zα/2} ou RR =

|x − y| : |x − y| > zα/2

√
σ2

X
m

+
σ2

Y
n


• Right tailed test

H0 : µX = µY vs H1 : µX > µY

TS : Z =
X − Y√
σ2

X
m

+
σ2

Y
n

∼ N (0, 1)

p − value = P(Z ≥ zobs | H0)

RR = {z : z > zα} ou RR =

x − y : x − y > zα

√
σ2

X
m

+
σ2

Y
n


• Left tailed test

H0 : µX = µY vs H1 : µX < µY

TS : Z =
X − Y√
σ2

X
m

+
σ2

Y
n

∼ N (0, 1)

p − value = P(Z ≤ zobs | H0)

RR = {z : z < −zα} ou RR =

x − y : x − y < −zα

√
σ2

X
m

+
σ2

Y
n


Definition 4.15. Testing the equality of means with unknown (but equal) variance

• Bilateral test

H0 : µX = µY ⇐⇒ µX − µY = 0 vs H1 : µX ̸= µY ⇐⇒ µX − µY ̸= 0

TS : T =
X − Y√

1
m

+
1
n

√
(m − 1)S′2

X + (n − 1)S′2
Y

m + n − 2

∼ t(m + n − 2)

p − value = 2P(T ≥ |tobs| | H0)

RR = {t : |t| > tα/2} ou RR =

|x − y| : |x − y| > tα/2

√
1
m

+
1
n

√
(m − 1)s′2X + (n − 1)s′2Y

m + n − 2


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• Right tailed test

H0 : µX = µY vs H1 : µX > µY

TS : T =
X − Y√

1
m

+
1
n

√
(m − 1)S′2

X + (n − 1)S′2
Y

m + n − 2

∼ t(m + n − 2)

p − value = P(T ≥ tobs | H0)

RR = {t : t > tα} ou RR =

x − y : x − y > tα

√
1
m

+
1
n

√
(m − 1)s′2X + (n − 1)s′2Y

m + n − 2


• Left tailed test

H0 : µX = µY vs H1 : µX < µY

TS : T =
X − Y√

1
m

+
1
n

√
(m − 1)S′2

X + (n − 1)S′2
Y

m + n − 2

∼ t(m + n − 2)

p − value = P(T ≤ tobs | H0)

RR = {t : t < −tα} ou RR =

x − y : x − y < −tα

√
1
m

+
1
n

√
(m − 1)s′2X + (n − 1)s′2Y

m + n − 2


Definition 4.16. Testing the equality of means with unknown (possibly different) variance

• Bilateral test

H0 : µX = µY ⇐⇒ µX − µY = 0 vs H1 : µX ̸= µY ⇐⇒ µX − µY ̸= 0

TS : T =
X − Y√
S′2

X
m

+
S′2

Y
n

∼ t(r),

where r is the largest integer contained in

(
s′2X
m

+
s′2Y
n

)2

1
m − 1

(
s′2X
m

)2

+
1

n − 1

(
s′2Y
n

)2 .

p − value = 2P(T ≥ |tobs| | H0)

RR = {t : |t| > tα/2} ou RR =

|x − y| : |x − y| > tα/2

√
s′2X
m

+
s′2Y
n


• Right tailed test
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H0 : µX = µY vs H1 : µX > µY

TS : T =
X − Y√
S′2

X
m

+
S′2

Y
n

∼ t(r),

where r is the largest integer contained in

(
s′2X
m

+
s′2Y
n

)2

1
m − 1

(
s′2X
m

)2

+
1

n − 1

(
s′2Y
n

)2 .

p − value = P(T ≥ tobs | H0)

RR = {t : t > tα} ou RR =

x − y : x − y > tα

√
s′2X
m

+
s′2Y
n


• Left tailed test

H0 : µX = µY vs H1 : µX < µY

TS : T =
X − Y√
S′2

X
m

+
S′2

Y
n

∼ t(r),

where r is the largest integer contained in

(
s′2X
m

+
s′2Y
n

)2

1
m − 1

(
s′2X
m

)2

+
1

n − 1

(
s′2Y
n

)2 .

p − value = P(T ≤ tobs | H0)

RR = {t : t < −tα} ou RR =

x − y : x − y < −tα

√
s′2X
m

+
s′2Y
n


Definition 4.17. Testing the ratio of variances

• Bilateral test

H0 : σ2
X = σ2

Y ⇐⇒ σ2
X/σ2

Y = 1 vs H1 : σ2
X ̸= σ2

Y ⇐⇒ σ2
X/σ2

Y ̸= 1

TS : F =
S′2

X
S′2

Y
∼ F(m − 1, n − 1)

p − value = 2 min{p1, p2} (see next definition)
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RR =
{

F : F < 1/F∗
α/2
}
∪ {F : F > Fα/2} or

RR =
{

s′2X/s′2Y : s′2X /s′2Y < 1/F∗
α/2

}
∪
{

s′2X/s′2Y : s′2X /s′2Y > Fα/2

}
where

Fα/2 : P(F > Fα/2) = α/2, F∗
α/2 : P(1/F > F∗

α/2) = α/2

• Right tailed test

H0 : σ2
X = σ2

Y ⇐⇒ σ2
X/σ2

Y = 1 vs H1 : σ2
X > σ2

Y ⇐⇒ σ2
X/σ2

Y > 1

TS : F =
S′2

X
S′2

Y
∼ F(m − 1, n − 1)

p − value = p1 = P(F ≥ Fobs | H0)

RR = {F : F > Fα} or RR =
{

s′2X /s′2Y : s′2X/s′2Y > Fα

}
• Left tailed test

H0 : σ2
X = σ2

Y ⇐⇒ σ2
X/σ2

Y = 1 vs H1 : σ2
X < σ2

Y ⇐⇒ σ2
X/σ2

Y < 1

TS : F =
S′2

X
S′2

Y
∼ F(m − 1, n − 1)

p − value = p2 = P(F ≤ Fobs | H0)

RR = {F : F < 1/F∗
α } or RR =

{
s′2X /s′2Y : s′2X/s′2Y < 1/F∗

α

}

Exercise 4.4. A certain wine producer assures the inspection authorities that his wine has an average acidity
content that does not exceed 0.5 g/l. It is assumed that the acidity content is a random variable with a normal
distribution of unknown parameters.

(a) Based on a sample of dimension n, formalize a statistical test that allows you to analyse the veracity of the
producer’s statement.

#

#
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(b) Observing a sample of 20 bottles, an average of 0.7 g/l and a corrected standard deviation of 0.08 were
obtained. Should the supervisory authorities act against the producer? Justify your answer using a suitable
hypothesis test.

#

#

Exercise 4.5. A tax office has two employees who receive tax returns. Assume that the time it takes each employee
to serve a person has a normal distribution, with standard deviations equal to 2 minutes. Mr. Diogo Costa,
arriving to hand in his statement, notices that the queue next to counter A has 20 people, while the queue next to
counter B has 15 people, and he naturally opts for this one. When he starts to be served (an hour and fifteen
minutes later), he notices that the twenty-first person in the next row has just been served. Can it be said that the
average time spent by two employees serving a person is identical? (Consider dimensions 0.05 and 0.1.)
#

#
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Exercise 4.6. To assess the quality of the environment in the two largest Portuguese cities, two random variables
are considered: X and Y, which represent the number of particles suspended in the air (micrograms/m3)
in Lisbon and in Porto, respectively (the more particles in suspension, the worse the air quality). Assume
that the two random variables have a normal distribution. The Ministry of the Environment collected two
random samples: one of size 16 in Lisbon and another of size 13 in Porto. The observed results are as follows:
x = 92.9, s′X = 25.4, y = 86.1, s′Y = 28.1.

(a) Based on an adequate statistical test, for α = 0.05, show that the equality of variances of the two random
variables is not rejected.

#

#

(b) Assuming equal variances in Lisbon and Porto, what is the p-value of the appropriate statistical test to
assess whether the air quality is worse in the center of Lisbon than in the center of Porto?

#

#

4.8 Large populations

When n is large (n > 30), use the CLT to obtain asymptotic distributions to the TS, which are approximate
and valid. Consider that all of the aforementioned pivot quantities follow a standard normal distribution
asymptotically.

Exercise 4.7. In a car rental company, the main parameter for establishing the daily rental rate for light passenger
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vehicles in the unlimited mileage category is the average number of kilometres travelled daily, which, at the
current rate, is assumed not to exceed 275. To assess whether it is necessary to revise this tariff, a random sample
of 500 rentals in this category was collected, with an average of 278.5 and a corrected variance of 6430.5. Use a
hypothesis test of size α = 0.05 to assess whether it is necessary to revise the daily rate for this type of rental.
#

#
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Chapter 5

Multiple variable regression analysis

5.1 Introduction

• Greene (Econometric Analysis, 1997) defines Econometrics as “the field of economics that concerns it-
self with the application of mathematical statistics and the tools of statistical inference to the empirical
measurement of relationships postulated by economic theory.”

• Starting point: study, based on data, a certain phenomenon of economic nature. Examples: evolution of
household consumption, GDP, debt, . . .

Definition 5.1. Theoretical model:

• the theory (common sense and/or intuition) leads to the construction of a theoretical model that is always
an abstract representation (an approximation) of reality.

• this model establishes a relationship between variables.

• the models that will be studied consist of the analysis of the behavior of a dependent variable, z, as a
function of other variables w1, w2, . . . , wp, named independent or explanatory variables z = h(w1, . . . , wp),
where the relationship usually involves a set of parameters (α1, . . . , αk) ∈ Rk.

• is a function in the mathematical sense of the term: each value of the argument corresponds to a single
value of the function.

Example 5.1. Consumption function, consumption = f (income):

consumption = α1 + α2income.

Example 5.2. Production function of a good (Cobb-Douglas), Q = f (K, L), where K, L are factors of production,
for example K = capital invested, L = labor:

Q = α1 Kα2 Lα3 .

Example 5.3. Constant elasticity substitution production function (a much more complicated model):

Q = β
[
(1 − δ)L−ρ + δK−ρ

]−γ/ρ .

• We will only study models that involve a linear (or are able to be linearized) relationship in relation to the
parameters because they cover a significant variety of situations and are easier to handle.

• A linear relation with respect to parameters β1, . . . , βk is defined as y = β1x1 + β2x2 + . . . + βkxk, regardless
of whether the linear functional form is direct or could be linearized.

• Linearity with respect to parameters:

55
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z = α1 + α2w + α3w2

is linear with respect to the parameters αi, but not with respect to the variable w.

• Linearity with respect to the variables:

z = α1 + α2w2 + α2
3w3

it is linear with respect to variables w2, w3, but it is not linear (nor linearizable) with respect to parameters αi.

Example 5.4. Linear and linearizable relations:

• Linear relation with respect to parameters

consumption = β1 + β2income.

• The relation

Q = α1 Kα2 Lα3

allows a linearization by taking the logarithm

ln Q = ln α1 + α2 ln K + α3 ln L ⇐⇒ ln Q = A + α2 ln K + α3 ln L,

where A = ln α1 is a constant.

• This is not a linear relationship, nor is it linearizable (we do not study these cases here)

Q = β
[
(1 − δ)L−ρ + δK−ρ

]−γ/ρ .

We will work with models defined as

z = h(w1, w2, . . . , wp)

or, after possible linearization (we always assume x1 = 1)

y = β1 + β2x2 + β3x3 + · · ·+ βkxk.

This theoretical model is not a statistical model. Why?

Remark. Before converting the above model to a statistical model, it is important to address two questions:

1. What is the nature (random or deterministic) of the variables involved in the model? We will postulate that
the model variables, as well as their observations, are random in nature.

2. Relational flexibility of the theoretical model: when considering

y = β1 + β2x2 + β3x3 + · · ·+ βkxk,

it is implied that the only explanatory factors of y are x1, x2, . . . , xk, which is generally an absurd assumption! The
flexibility is obtained by introducing an additional variable u that covers all factors that were not considered
and that can affect the behavior of y.

• Incorporating u in the model y = β1 + β2x2 + β3x3 + · · ·+ βkxk allows us to obtain

y = β1 + β2x2 + β3x3 + · · ·+ βkxk + u.

Note that u is not observable.
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Definition 5.2 (Residual variable). The variable u introduced above is called residual variable and represents
everything that needs to be added to β1 + β2x2 + β3x3 + · · ·+ βkxk in order to get y.

Example 5.5. The goal is to investigate the impact of education on wages. It is common knowledge that, in
addition to education, other factors such as professional experience, sector of activity, and so on influence salary.
The following variables are taken into account:

• the worker’s annual average monthly salary: salar;

• the worker’s number of years of education: educ;

• number of years of professional experience after finishing school: exper;

• number of years in current position: empc;

• binary variable that takes the value 1 if the individual is a woman and 0 if the individual is a man: woman.

One can propose an exponential function for the original model:

salar = eα1+α2educ+α3exper+α4empc+α5woman.

Linearizing, we get

lsalar︷ ︸︸ ︷
ln (salar)︸ ︷︷ ︸

y

= α1︸︷︷︸
β1

+ α2︸︷︷︸
β2

educ︸︷︷︸
x2

+ α3︸︷︷︸
β3

exper︸ ︷︷ ︸
x3

+ α4︸︷︷︸
β4

empc︸ ︷︷ ︸
x4

+ α5︸︷︷︸
β5

woman︸ ︷︷ ︸
x5

.

Introducing the residual variable:

lsalar = α1 + α2educ + α3exper + α4empc + α5woman + u.

5.2 Types of economic data

• In order to perform an econometric analysis, we need data.

• Econometrics, as mentioned earlier, has developed as an independent statistical tool mainly due to the
specificity of the data under study.

• In general, the available data are observational, that is, non experimental (eg. interest rates).

• The type of available data is a crucial issue, as it determines both the kinds of questions that can actually be
answered as well as the types of techniques that should be used.

• There are basically three types of data: cross-sectional, time series and panel.

Definition 5.3 (Cross-sectional data). A sample of individuals (or firms, countries, etc.) collected at a specific
point in time. Examples: surveys of familiar income, surveys of unemployment, . . .

Definition 5.4 (Time-series data). Observations on a set of variables over time for one statistical unit (individual,
industry, sector, country, etc.). Example: GDP, interest rates.

• The frequency of observation of the data is important.

• Data are naturally ordered chronologically.

• It is unusual to assume independence of the observations over time, since the past in general is relevant.

Definition 5.5 (Panel data). Panel data (also known as longitudinal or cross-sectional time-series data) is a dataset
in which the behavior of entities are observed across time. These entities could be states, companies, individuals,
countries, etc.
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Figure 5.1: Cross-sectional data example.

Figure 5.2: Time-series data example.

Figure 5.3: Panel data example.
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5.3 The linear regression model

Definition 5.6 (Linear regression model). The linear regression model is defined as

y = β1 + β2x2 + β3x3 + · · ·+ βkxk + u,

where:

• y: dependent or response variable;

• xj, j = 2, . . . , k: regressor (independent variable or explanatory variable);

• β j, j = 1, . . . , k: slope or regression coefficients (constants) for each regressor (β1 is called y-intercept);

• u: residual variable (always a non-observable variable).

To estimate the parameters (regression coefficients) of the theoretical model, it is necessary to start from a sample,
with dimension n:

{(yt, xt2, . . . , xtk) : t = 1, 2, . . . , n}

which gives rise to n sample relations

yt = β1 + β2xt2 + β3xt3 + · · ·+ βkxtk + ut,

where ut represents the residual variable associated with the observation t.

The n inequalities can be presented using matrix notation:


y1 = β1 + β2x12 + β3x13 + · · ·+ βkx1k + u1
y2 = β1 + β2x22 + β3x23 + · · ·+ βkx2k + u2

...
...

...
yn = β1 + β2xn2 + β3xn3 + · · ·+ βkxnk + un

⇐⇒ Y = Xβ + U.

5.3.1 Model’s hypothesis

H1 - Linearity:
Y = Xβ + U.

• Only linear models will be treated: models that are easier to treat.

H2 - Exogeneity (regressors are exogenous):

E(ut | X) = 0, t = 1, 2, . . . , n.

• None of the information contained in X can be used to calculate E(ut). Important consequences of this
assumption:

– The unconditioned expected value of the residual variable is equal to zero (see prop. of the iterated
expected value):

E(ut) = E(E(ut | X)) = E(0) = 0, t = 1, . . . , n.

– E(yt | X) = E(β1 + β2xt2 + · · ·+ βkxtk + ut | X) = β1 + β2xt2 + · · ·+ βkxtk + E(ut | X) =
= β1 + β2xt2 + · · ·+ βkxtk + 0 = β1 + β2xt2 + · · ·+ βkxtk ⇐⇒ E(yt|X) = yt − ut ⇐⇒

ut = yt − E(yt | X)

(remains unknown as parameters are unknown)
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– There is no linear association between the regressors and the residual variable (model keypoint)

Cov(xsj, ut) = E(xsjut)− E(xsj)E(ut) = E(E(xsjut | X)) = E(xsjE(ut | X)) = E(0) = 0,

t, s = 1, . . . , n; j = 2, 3, . . . , k.

H3 - Conditioned homoscedasticity:

Var(ut | X) = σ2 > 0, t = 1, 2, . . . , n.

• The (conditioned) variance of the residual variable is constant ∀t, which implies 2 important consequences:

– The unconditioned variance of the residual variables is constant:

Var(ut) = Var[E(ut | X)] + E[Var(ut | X)] = Var[0] + E[σ2] = σ2.

– The variance of yt conditioned by X is constant:

Var(yt | X) = Var(β1 + β2xt2 + · · ·+ βkxtk + ut | X) = Var(ut | X) = σ2.

H4 - Absence of autocorrelation:

Cov(ut, us | X) = 0, t = 1, 2, . . . , n, t ̸= s.

• Important hypothesis for models applied to time-series data:

– there is an “order” among the observations, which does not happen in cross-sectional models;

– with time-series data it is frequent to specify models in which H4 does not hold, i.e., Cov(ut, us | X) ̸= 0
for t ̸= s.

• Consequences of this hypothesis:

– H2 + H4 =⇒ E(utus | X) = Cov(ut, us | X) = 0, t ̸= s, t, s = 1, . . . , n.

– Lack of correlation (unconditioned)

Cov(ut, us) = E[E(utus | X)]− E(ut)E(us) = 0 − 0 = 0.

– Conditional covariances between the observations of the regression do not depend on the observations
of the regressors:

Cov(yt, ys | X) = Cov(ut, us | X) = 0, t ̸= s.

H5 - Non-existence of exact multicollinearity. The rank of matrix X is equal to k (number of regression coefficients)
and k < n:

• More technical hypothesis that is intended to guarantee that the matrix XTX admits inverse (XTX)−1, that
is, the columns of the matrix X are linearly independent.

• Non-existence of multicollinearity: xj is not a linear combination of the remaining regressors j = 1, . . . , k:

xj ̸= γ1 + γ2x2 + · · · γj−1xj−1 + γj+1xj+1 + · · ·+ γkxk.

• Example (of multicollinearity): x2 : yield in euros and x3 : income in thousands of euros =⇒ x2 = 1000x3.

H6 - Normal distribution of the residual variable conditioned by X (useful for statistical inference):

ut | X ∼ N (0, σ2).
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Remark. Covariance matrix, U:

• Hypotheses H3 and H4 make it possible to determine the covariance matrix of U conditioned by X:

Cov(U | X) =


Var(u1 | X) Cov(u1, u2 | X) · · · Cov(u1, un | X)

Cov(u2, u1 | X) Var(u2 | X) · · · Cov(u2, un | X)
...

...
. . .

...
Cov(un, u1 | X) Cov(un, u2 | X) · · · Var(un | X)


• Under H3: diagonal elements are all σ2.

• Under H4: remaining elements are equal to zero:

Cov(U | X) =


σ2 0 · · · 0
0 σ2 · · · 0
...

...
. . .

...
0 0 · · · σ2

 = σ2 In

The only unknown parameter of this matrix is σ2.

5.4 Ordinary least square estimation

• Parameters (unknown, i.e., to be estimated) of the model:

β1, β2, . . . , βk and σ2.

• Estimation of regression parameters: Ordinary Least Squares (OLS) method.

• We will obtain the estimates (and other statistical information) through software outputs (MS Excel and
STATA).

Definition 5.7. Estimator for β:

β = (β1, . . . , βk).

To estimate β start with:

• a sample of n observations of k variables and y;

• β̃ = (β̃1, . . . , β̃k): “approximation” for β.

OLS method:

Obtain the vector b = (b1, b2, . . . , bk) that minimizes the sum of squared residuals:

φ(β̃) =
n

∑
t=1

ũ2
t =

n

∑
t=1

(yt − xt · β̃)2 =
n

∑
t=1

(obs.valuet − appr.valuet)
2 =

n

∑
t=1

(residualt)
2

=
n

∑
t=1

(yt − (β̃1 + β̃2xt2 + · · ·+ β̃kxtk))
2.

How to get b?

• The vector b minimizes the sum of the squared residuals and gives us the adjusted model (“line”). It is
possible to show that:

(XTX)b = XTY ⇔︸︷︷︸
H5: XTX is invertible

b = (XTX)−1XTY.

• The main consequence of choosing to minimize the square of residuals is to give greater weight to large
residuals to the detriment of small ones.
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Definition 5.8 (Adjusted linear regression function). Once the OLS estimator of the regression coefficients is
determined

b = (XTX)−1XTY = (b1, . . . , bk)

we obtain the adjusted linear regression function (for the data):

ŷt = b1 + b2xt2 + · · ·+ bkxtk.

b − β represents the deviation between the estimator b and the true value of the vector of regression coefficients,
β:

b = (XTX)−1XT Y︸︷︷︸
Xβ+U

= (XTX)−1XT(Xβ + U) = β + (XTX)−1XTU ⇐⇒

⇐⇒ b − β = (XTX)−1XTU ⇐⇒ (XTX)(b − β) = XTU.

This deviation can never be determined exactly, because U is not observable.

Definition 5.9 (OLS residuals). OLS Residuals related to the observation t:

ût = yt − ŷt, t = 1, 2, . . . , n

Matrix notation:

Û =


û1
û2
...

ûn

,

 Ŷ =


ŷ1
ŷ2
...

ŷn

 = Xb =⇒ Û = Y − Xb = Y − Ŷ.

Remark. It is critical not to mix up:

• MS residuals ̸= residual variables, ût ̸= ut.

• theoretical linear regression function ̸= adjusted linear regression function:

– theoretical linear regression: E(yt | X = x) = β1 + β2xt2 + · · ·+ βkxtk.

– adjusted linear regression: ŷt = Ê(yt | X = x) = b1 + b2xt2 + · · ·+ bkxtk.

– the value bj represents the OLS estimative of β j, j = 2, . . . , k.
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5.5 Interpretation of the estimation results

Interpretations are made in terms of the conditional expected value of Y

E(Y | X) = E(yt | xt2, . . . , xtk) = β1 + β2xt2 + · · ·+ βkxtk,

which, for each set (xt2, . . . , xtk) is estimated by

ŷt = b1 + b2xt2 + · · ·+ bkxtk.

To exemplify the most common situations, consider two examples:

1. Variable y is the variable of interest

E(yt | xt2, . . . , xtk) = β1 + β2xt2 + · · ·+ βkxtk =⇒ ŷt = b1 + b2xt2 + · · ·+ bkxtk.

· β j: represents a marginal change, that is, the change in E(y | X) when xj changes by one unit, everything else
being constant (ceteris paribus), j = 2, · · · , k;

· β1 : independent term (in general, it does not have its own interpretation).

2. Variable of interest z with y = ln(z), x2 = ln w2 and x3, . . . , xk do not result from transformation.

E(ln zt | wt2, xt3 . . . , xtk) = β1 + β2 ln wt2 + β3xt3 + · · ·+ βkxtk

⇐⇒

E(yt | xt2, · · · , xtk) = β1 + β2xt2 + β3xt3 + · · ·+ βkxtk =⇒ ŷt = b1 + b2xt2 + b3xt3 + · · ·+ bkxtk.

The interpretation of the parameters must now be done more carefully:

· β2: represents a marginal change, that is, the change in E(ln z | X) when ln w2 changes by one unit, everything
else being constant (ceteris paribus); this interpretation is meaningless (see the following point);

· β2: represents a point elasticity of z (or better, the conditional expected value of z ) with respect to w2, that is,
when w2 varies by 1% the conditional expected value of z will vary by approximately β2%, ceteris paribus;

· β j, j = 3, · · · , k: represents a point semi-elasticity of z (or better, the conditional expected value of z) with
respect to xj. In concrete terms, when xj changes by one unit, the conditional expected value of z will change by
approximately 100β j%, j = 3, · · · , k, c.p.;

· The exact percentage change in z is given by

100(ebj∆xj − 1).

It is recommended that you carefully read Chapter 12 of the reference book (Newbold) where these aspects
are described in depth for a better understanding.

Summary

y-scale x-scale Interpretation

Y Xj ∆Xj = 1 =⇒ ∆E(Y | X) = β j
ln(Y) Xj ∆Xj = 1 =⇒ ∆E(Y | X) = 100β j%
Y ln(Xj) ∆Xj = 1% =⇒ ∆E(Y | X) = β j/100
ln(Y) ln(Xj) ∆Xj = 1% =⇒ ∆E(Y | X) = β j%

Example 5.6.
̂logsalart = 5.81505 + 0.0554yeduct + 0.0230yexpert + 0.0040yemplt

Interpretation of estimates:



64 CHAPTER 5. MULTIPLE VARIABLE REGRESSION ANALYSIS

• The OLS estimate of the semi-elasticity of expected salary in relation to the number of years of education
(return to education) is 0.0554, which means that if the number of education years increases by one, salary
will increase (c.p.) by approximately 100 × 0.0554% = 5.54% (the exact value is e0.0554×1 − 1 ≈ 5.69%).

• Similar interpretation is given to the other coefficients;

• The signs of the three estimates coincide with the expected signs for the respective parameters.

5.6 Properties of the OLS residuals

1. The sum of the residuals equals zero:

n

∑
t=1

ût = 0.

2. The sum of the products of the observations of each regressor by the residuals is zero:

n

∑
t=1

xtjût = 0, j = 1, . . . , k.

3. The sum of the products of the values adjusted by the residuals is equal to zero:

n

∑
t=1

ŷtût = 0.

4. The sum of squares of the regression observations is equal to the sum of squares of the respective adjusted
values plus the sum of squares of the residuals:

n

∑
t=1

y2
t =

n

∑
t=1

ŷ2
t +

n

∑
t=1

û2
t .

5. The OLS estimator of β, represented by b, whether or not conditioned by X, is centered (unbiased):

E(b | X) = E(b) = β.

6. The OLS estimator b, conditional on X, is linear in Y:

b = (XTX)−1XTY = ϕ(Y), ϕ linear function of X.

7. The covariance matrix of the OLS estimator b, conditional on X, is

Cov(b | X) = σ2(XTX)−1,

thus,

Var(bj | X) = σ2
bj
= σ2mjj, j = 1, . . . , k,

where mjj = diagonal element of order j of matrix (XTX)−1.

8. The OLS estimator of β is consistent.

9. (Gauss-Markov Theorem)

Theorem 5.1 (Gauss-Markov). Whatever the estimator β̂ of β is, linear and unbiased, the estimator b conditioned by X is
more efficient than β̂ (has smaller variance). Also, b is said to be BLUE (Best Linear Unbiased Estimator) for β (complicated
proof).

This property can be extended to a linear combination of the regression coefficients

δ = c1β1 + c2β2 + · · ·+ ckβk,

and it is possible to show that δ̂ = c1b1 + · · ·+ ckbk is BLUE for δ.
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Definition 5.10 (Unbiased estimator of the variance of the residual variables). Now we want to estimate

σ2 = Var(ut) = E(u2
t )− E2(ut) =︸︷︷︸

E(ut)=0

E(ut).

We can’t use σ̂2 =
1
n

n

∑
t=1

u2
t , because ut isn’t observable. As a result, we can make use of

s2 =
1

n − k

n

∑
t=1

û2
t

which is a centered estimator for σ2.

We define the standard error of the regression as

s =
√

s2.

Once σ2 has been estimated, the covariance matrix of b, conditioned by X, can be estimated by:

Ĉov(b | X) = s2(XTX)−1, particularly V̂ar(bj | X) = s2mjj = s2
bj

.

We define the standard error of bj by the quantity

sbj
=
√

V̂ar(bj | X) = s
√

mjj.

How to assess the goodness of fit after estimating the model?

Definition 5.11 (Coefficient of determination). To evaluate the “goodness of fit” (of the regression to the data)
one can resort to the coefficient of determination:

R2 =
SSE
SST

= 1 − SSR
SST

, 0 ⩽ R2 ⩽ 1,

where

Total Sum of Squares: total variation in the dependent variable

SST =
n

∑
i=1

(yi − ȳ)2.

Explained Sum of Squares: variation (of the dependent variable) explained by the regression

SSE =
n

∑
i=1

(ŷi − ȳ)2.

Residual Sum of Squares: variation (of the dependent variable) not explained by the regression

SSR =
n

∑
i=1

(yi − ŷi)
2 =

n

∑
i=1

ûi
2.

Remark: SST = SSE + SSR.

The closer to one the coefficient of determination is, the better the goodness of fit.



66 CHAPTER 5. MULTIPLE VARIABLE REGRESSION ANALYSIS

Remark. We should only use R2 to compare models that have the same dependent variable.

The coefficient of determination, R2, has two major drawbacks:

• Being a summary measure of interpretation that is not always easy: what is a low/high value?

• When one more regressor is added to the model, whatever it may be, the value of R2 never decreases (for
the same sample), because ∑n

t=1 û2
t does not grow.

Definition 5.12 (Adjusted coefficient of determination). To overcome the shortcomings of using R2, the adjusted
coefficient of determination is used, which penalizes the introduction of more variables (regressors):

R2
= 1 − SSR/(n − k)

SST/(n − 1)
= R2 − (1 − R2)

k − 1
n − k

.

This coefficient has the inconvenience of being negative and never reaching the value of 1.

It should only be used to compare models that have the same dependent variable.

5.7 Statistical inference on the MLR model

Starting from a sample, we could be interested in:

• Estimating the coefficients and their variances through OLS;

• Construct confidence intervals for the coefficients;

• Test hypotheses on the parameters.

The objective now is to make inference on the model’s parameters β j.

Example: ln(sal) = β0 + β1educ + u.

Could it be that β1 = 0? Or that β1 < 0? Or that β1 = 1?

We need to find a test statistic with a fully known distribution.

In order to do this, we need to choose a distribution for the population.

REMARK: closely follow the Hypothesis testing chapter!

Statistical inference on the variance of residual variables

Reduced interest but is important for Econometrics. . .

Hypothesis:

H0 : σ2 = σ2
0 vs H1 : σ2 ̸= σ2

0 (or H1 : σ2 < σ2
0 , or H1 : σ2 > σ2

0 ).

TS:

Q =
(n − k)s2

σ2 ∼ χ2(n − k), with s2 =
1

n − k

n

∑
i=1

û2
i .

Statistical inference for one regression coefficient

Hypothesis:

H0 : β j = β0j vs H1 : β j ̸= β0j (or H1 : β j < β0j, or H1 : β j > β0j).

TS:

Tj =
bj − β j

sbj

=
bj − β j

s
√

mjj
∼ t(n − k).
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Particular (and very important) case: β0j = 0 (statistical significance of the regressor).

Statistical inference for one regression coefficient (signal test)

Hypothesis:

H0 : β j = 0 vs H1 : β j > 0 (or < 0).

TS:

Tj =
bj

sbj

∼ t(n − k).

Statistical inference on one linear combination of regression coefficients

The goal now is to test

δ = c1β1 + c2β2 + · · ·+ ckβk = cβT .

The MQ estimator of δ is

δ̂ = c1b1 + c2b2 + · · ·+ ckbk = cbT .

It can be shown that

tδ̂ =
δ̂ − δ

sδ̂

∼ t(n − k).

sδ̂ = s
√

c(XTX)−1cT is the standard error of δ̂ and can be obtained from the covariance matrix of b.

A practical solution will be seen later when the matrix of covariances of b is not available (in MSExcel it is not
easy to obtain this matrix).

Joint nullity test of regression coefficients (nullity of a subset)

Find out if some of the regression coefficients are jointly equal to zero. Suppose we want to test whether the last
m = k − p coefficients are equal to zero. Assumptions:

H0 : βp+1 = 0, βp+2 = 0, . . . , βk = 0

vs

H1 : ∃ β j ̸= 0, j = p + 1, . . . , k.

Perform a test with 3 steps:

Step 1 - Estimate the model without restrictions, i.e., with all the regressors, and obtain SSR1 =
n

∑
t=1

û2
t .

Step 2 - Estimate the model with restrictions, i.e., eliminating the regressors that are assumed to have a zero
coefficient:

yt = β1 + β2xt2 + · · ·+ βpxtp + βp+1︸︷︷︸
=0

xtp+1 + · · ·+ βk︸︷︷︸
=0

xtk =⇒ yt = β1 + β2xt2 + · · ·+ βpxtp,
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and get SSR0 = ∑n
t=1 û2

t .

Step 3 - Compare the models, using the ST

F =
(SSR0 − SSR1)/m

SSR1/(n − k)
=

SSR0 − SSR1

ms2 ∼ F(m, n − k),

where m = k − p is the number of constraints.

s2 =
SSR1

n − k
is the estimate of σ2 based on the unconstrained model.

REMARK

Instead of using SSR0 and SSR1, we can use the respective determination coefficients:

F =
(R2 − R2

0)/m
(1 − R2)/(n − k)

∼ F(m, n − k).

If the individual test of each of the coefficients included in H0 does not reject nullity and the joint test does, then
one should suspect possible multicollinearity.

The reverse situation (one does not reject the joint nullity of some regressors, with the F-test, but one rejects the
nullity for a particular coefficient by the t-test) is also possible, but in this case it is generally preferable to trust in
the t-test (more powerful than the F-test to detect whether a given regression coefficient is different from zero).

Global significance test of the regression

Test the nullity of all coefficients with the exception of the independent term:

H0 : β2 = β3 = · · · = βk = 0 vs H1 : ∃β j ̸= 0, j = 2, . . . , k.

Not rejecting the null hypothesis corresponds to verifying that the proposed model is not globally adequate
to describe the behavior of the regression.

The test statistic is obtained by the previous system, now being the number of constraints m = k − 1:

F =
R2/(k − 1)

(1 − R2)/(n − k)
=

SSE/(k − 1)
SSR/(n − k)

∼ F(k − 1, n − k).

Final remark

When the residual variable does not have a normal distribution (violation of hypothesis H6), but the sample is
large, the CLT can be applied:

Tj =
bj − β j

sbj

a∼ N (0, 1).

Exercise 5.1. In a study on cholesterol in a certain risk group, a random sample of 30 subjects was collected, and
the following variables were observed:

• x = number of grams of fat consumed per day;

• y = amount of cholesterol in the blood (in milligrams per deciliter).

The estimation results with EXCEL are shown below:
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(a) Write down the meaning of all the orange letters from A to Z.
#

#

(b) Write the theoretical and the estimated models.
#

#

(c) Interpret the value of the letter P.



70 CHAPTER 5. MULTIPLE VARIABLE REGRESSION ANALYSIS

#

#

(d) Test the hypothesis that the slope of the line is equal to 1 against the alternative that it is greater than 1
(dimension 0.05).

#

#

(e) Construct a 95% confidence interval for the slope of the regression line.
#

#

(f) Based on the confidence interval constructed in the previous question, what can you conclude about the
relationship between cholesterol and ingested fat?

#

#

Exercise 5.2. Consider the following regression model (checking the basic assumptions):

yt = β1 + β2xt2 + β3xt3 + ut, t = 1, 2, · · · , 500,

where y is the price (in monetary units) per m2 of an apartment in a given city, x2 is the area of the apartment,
and x3 is the distance to the city centre in kilometers. The model was estimated with the SPSS software, and the
results are:
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Remark: The column “Standardized coefficients” is not important at this stage.

(a) Briefly analyse the results obtained in statistical terms (consider α = 0.05) and in economic terms, interpret-
ing the estimates obtained for the regression coefficients.

#

#

(b) Perform the test

H0 : β2 = −2 vs H1 : β2 < −2.

In the case of not rejecting the null hypothesis, would it be reasonable to exclude the regressor x2 from the model?
#
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#

Exercise 5.3. The company Electrik intends to build an explanatory model of family consumption (in monetary
units) of electricity, y, as a function of family income, x2, the number of individuals in each family, x3, and the
area of the respective house in square meters, x4. The estimation results with EXCEL are shown below:

(a) Taken as a whole, do you think that the regressors included in this model are useful for explaining
consumption? Test at 0.05.

#

#

(b) Looking only at the p-value in the table, say which of the regressors appears to be statistically significant.
#
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#

(c) Criticize the adopted model, taking the number of observations into account.
#

#

(d) Test at 0.05 the hypothesis that the increase in income implies, on average, an increase in consumption.
#

#

(e) The company Electrik decided to estimate another model in which it only included family income as a
variable. The estimation results are shown below:

Test at 0.05 the simultaneous nullity of the coefficients concerning the variables “number of individuals” and
“area of the house.” Which of the two models seems preferable?
#
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#

Exercise 5.4. An economist from an association of wine producers decided to build an explanatory model of
the price (in euros/bottle) of wines from a certain demarcated region, PR. For this purpose, he selected as
explanatory variables the classification, from 1 to 10, given by a magazine (CL), the age of the harvest in years
(ID), the quantity produced in thousands of bottles (QT), and a variable (TN), which takes the value 1 if the
wine has mostly grapes of the “Touriga Nacional” variety (a variety of red wine grape) and 0 otherwise, and
proposed the following specification:

LPR = β1 + β2CL + β3 ID + β4LQT + β5TN + u,

where LPR represents the natural logarithm of the price of the bottle LQT is the natural logarithm of the quantity
produced. Assuming that the hypotheses of the multiple linear regression model were satisfied and that a
random sample of 65 producers was observed (one bottle per producer), the model was estimated, obtaining the
following results:

When answering the following questions, use a dimension of 5% for all the tests you have to perform:

(a) Both as a whole and individually, do you think that the regressors included in this model are useful in
explaining the logarithm of the selling price of wine in that demarcated region?

#
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#

(b) Interpret the estimates obtained for the coefficients β2 and β4.
#

#

(c) Construct the confidence interval at 95% for β3.
#

#

(d) Comment, justifying the following sentence: “For a dimension of 5% there is statistical evidence that on
average, and under equal circumstances regarding the remaining explanatory variables, the greater the
quantity produced, the lower the price of wine.”

#

#

(e) Perform the test
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H0 : β2 = 2β3 vs H1 : β2 ̸= 2β3.

#

#
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